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How many marks did Tarun secure in English ?

I.  The average mark obtained by Tarun in four subjects including English is 60,
II. The total marks obtained by him in English and Mathematics together are 170,
HI. The total marks obtained by him in Mathematics and Science together are 180,
(%) 1and Il only @) Il and 111 only ' :

(1 I and IH only (&) None of these

A hollow iron pipe is 21 cm long and its external diameter is 8 cm, If the thickness of
the pipe is I em and iron weighs 8 g/cm®, then the weight of the pipe is:

(#) 3.6kg (@) 3.696 kg (N 36 kg (¥) 36.9 kg
Which of the following has the most number of divisors ? ‘
(®) 99 @) 101 (M 176 a) 182

In a regular week, there are 5 working days and for each day, the working hours are 8.

- A man gets Rs. 2.40 per hour for regular work and Rs, 3.20 per hours for overtime. If

he earns Rs. 432 in 4 weeks, then how many hours does he work for ?
(%) 160 @) 175 © (M 180 © o) 195
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: I gives, total marks in 4 subjects = (60 x 4) = 240.
11 glves E+M= 170
11T gives, M + S = 180.
Thus. none of (A), (B), (C), (D) is true.
. Correct answer is (E). .
R KSR
b External radius = 4 cm.
Internal radius=3 cm.
: _, 2 -
Volume of iron = | — x [(4) - 3)]x21 :
AT : 3 cm’
220 '
= | =7 x 1 X221 ;
s cm’™
=462 cm’.
. Weight of iron = (462 x 8) gm = 3696 gm = 3.696 kg. -
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ELS g Suppose the man works overtime for x hours.
Now, working hours in 4 weeks = (5 x 8 x 4) = 160.
* 160x2.40 +xx 3.20 =432
1= 3.20x=432-384 =48
= x=15. .
Hence, total hours of work = (160 + 15) = 175.
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The price of 10 chairs is equal to that of 4 tables The price of 15, chalrs and 2 tables
together is Rs. 4000. The total price of 12 chairs and 3 tables is:

%) Rs. 3500+ @) Rs. 3750 () Rs. 3840 (") Rs. 3900
mmm%@m TEHT ATUTTAT IO 22Ut e Aedate @t fasen wan smewee |
239 ST FML ol & | afger gEdEer
SreriteT af USET EMAT qott 2 | 2 e
(%) I WAL T T |

) T 9T EE TTE |

) Y AU a= a1 TeATSS |
) Y TR [eagr e He |
If 3% =27 and 3% = 243, then x is equal to:
F) 0 (@) 2 4 (|7 6
If the cost of x metres of wire is d rupees, then what is the cost of y metres of wire at the
same rate ? .

) Rs. (Q) ) Rs. (xd) M Rs. (yd) o Rs. (¥)
In one hour, a-boat goes 11 km/hr along the stream and 5 km/hr against the stream.
The speed of the boat in still water (in km/hr) is:
(®) 3 km/hr @) 5 km/hr (M 8 km/hr (") 9 km/hr
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A. q Let the cost of a chair and that of a table be Rs. x and

Rs.y respectlvely }

Then, 10x=4y or | y= gx.
" 15x + 2y = 4000

= 15x+2x ‘§x='4600

= 20x = 4000
- x=200:

5 ).
So,y= [E X 200) =500.
Hence, the cost of 12 chairs and 3 tables = 12x + 3y
= Rs. (2400 + 1500)

: = Rs..3900.
R T . : ‘
. T 3'r=271=3 & x-y=3..4)
3¥V=243=3° & x+y=5..(ii)
On solving (i) and (ii), we get x = 4.
¥, ° Cost of x metres = Rs. d.
. {d
Cost of 1 metre = Rs. [—)
- ) A .
. d yd
‘| Cost of y metres = Rs. ; Y| =Rs. ;
i £ ; . Uy
. T Speed in still water =1/2 (11 + 5) kmph = 8 kmph
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AT qAFRT T THEH FA IS AT ?

(%) 9 grar (@) TEARIE (M) AAEAT () qHOT

AR T HETAYUT TR ATl A AT 2

(&) T @) T () 7P (&) S _

mmammmwmmmzﬁ\wmw.?

(%) FTSHTST (@) WighE &7 o () A . (%) SHEH

TATETATE FEHET TAT €W T ST F 2 2

(&) AT L@ aEEr ) e (%) =T .
U (@) - AT dfgew qdeer (ROXR = ¥o HSH)

In order to obtain an income of Rs. 630 from 10% stock at Rs. 96, one must make an investment of:

(#) Rs.3100 (@) Rs. 6240 (M Rs. 6500 () Rs. 9600

Rs. 20 is the true discount on Rs. 260 due after a certain time. What will be the true discount
on the same sum due after half of the former time, the rate of interest being the same ?

(%) Rs. 10 (@) Rs. 10.40 (0 Rs. 15.20 (%) Rs. 13

Find the odd man out.

1396, 462, 572, 427, 671, 264

(F) 396 @) 427 . @M 671 (T 264

A is thrice as good as workman as B and therefore is able to finish a job in 60 days less
than B. Working together, they can do it in: : :
(%) 20 days (@) 22§7days (M) 25 days. - (") 30 days

Mr. Gupta borrowed a sum of money on compound interest. What will be the amount
to be repaid if he is repaying the entire amount at the end of 2 years ?

I. The rate of interest is5p.cpa. ;

IL. Simple interest fetched on the same amount in one year is Rs. 600.

HI. The amount borrowed is 10 times the simple interest in 2 years.

(@) I only - - (@ Il only (M TorII only

(") Il and Either L or [l only (3 All I, I and 1 are required

e feguar At srem T geEEw IR R |

: 4%€1T2ﬁ€€W,X,YTZ<‘3rHRTﬂHTﬁmﬂ, mmzmmwzm

100 qutigsar e s ar R |
‘ [ELRES _
w T e 43 §le FqTeere
X 60 81 45 55
Y 2 76 CRRL Gl 68
Z 74 NEECCN T 65
(1) ITHT 7 dle EarEe 60 — 65 YT 96 9o 73 7
(F) W o @X Mmy (mZ
() SFTHT T =AM e = o e w2
(F) W @) X My (m Z
() ST Gl R 9w mw oy 7 '
. @EW - @X . my (N Z
) F v frarfis a4 W aeE g e g i
- (@) famm @) graThie @ (%) STqredt
%) Qﬁeﬂmwﬁﬂmmﬁm@aﬁhﬂmﬁ@raﬁwﬁmmnmzﬁ?
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JTH A T
A B C D s
LlEEIRICED 120 60 210 90 120
TR e 24 12 45 24 30
AT : 54 2T 60 51 60
Eail Mok 60 . |54 - 120 =-2] 42 55
a7 G 12 3 15 3 15
STHAT © 17270 150 450 210 280
9) WEWWWMI&TWWWWWQH &
(®) 40 - @) 4 rTr)% (= 400
(2 mmmmm?ﬁmmarwwmaf
(F) A @) B @M C (7 D
(3) T AR T epeIE AT AR T A edale AUH AR AT AT EH G ?
(%) B @ C » @M D () E
(¥) T eI THAT ATRMHHT T el ATRE a6l WHl J ?
() A ' @ B M C (= D
Which workd does not belong with the others ?
(%) triangle (@) circle N goal - * (F) sphere”
m%@mmmmﬁmaﬁmm ITh WL A A 21 O SR |
X =1 A TE AT o[+ A
o +1o T % + o Al =
N = X o I — X
(a) - () <) S ) )

. TR JIET WU 5o (A, B, C....) & 7 FY TN UF AR TEFHT BF WY e 1 2,
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(%) 12 @) 13
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. U GIERH a1 qR BT T Al siRee A A, B, C T D G A-B=3, B+C=78, C+D=33,
; ﬁmﬁwﬁa@w;mmwmﬁm
@ A @) W ag (M R Y (%) 30 af - ‘
Y. looméuaﬁmnmmm%mmqmnﬁ, T =T SIEET ¥ TS R T A |
o ®25,5,30,30 @) 4,64,12,20 @ 20,30, 15,35 () 40, 10, 28,22 _ '
| ¥E, (329‘:15),(746:34)ﬁaﬁwaw@ﬁmmqaq' ~ AN
(®)(287:22) @) (698 : 62) (1) (942:68) () (382 : 12)
€S, ITH fawer oAt R |
8 A1 ]330 @) 33

¥z,
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: (F) P @) Q L8 B (=) S
X0. TVNDAY %1 %15 SUNDAY WT NPNDAY 31 @re FEY?
@ SUNDAY (@ MONDAY (T FRIDAY (<) TUESDAY

R®



I HfsH

>

. I qAW
3. @) 2@ 3. @ ) Y. @
%. () 9, (n G. @n R, (@) - 90. = (&)
9. @ ‘9%, @0 9%: - 9¥. (@, =1 [
9%. () 9. (n 9=. (P) R, (=) 0. (&)
S R@ WM Y. (F) WM
k@ e (M @ (M R @) 0. @@
. i To obtain Rs. 10, investment = Rs. 96.
! To obtain Rs. 650, investment (96 - x ] =Rs.
=Rs. 10 650 6240.
EES g - s A :
S.1. on Rs. (260 - 20) for a given time = Rs. 20.
S.I. on Rs. 240 for half the time = Rs. 10.
T.D. on Rs. 250 =Rs. 10.
: 10
-~ T.D.onRs. 260 =Rs. [-2_56 Xx: 260} =Rs. 10.40
R g In each number except 427, the middle digit is the sum
of other two.
3¥. g
: atio of times taken by Aand B=1:3.
The time difference is (3'- 1) 2 days while B-take 3 days
and A takes | day.
If difference of time is 2 days, B takes 3 days.
If difference of time is 60 days, B [ 3 x. =90
takes ' 2 60 days.
So, A takes 30.days to do the work.
A's 1 day's work =
30
B's | d k =
ay's wor %
1 1 4 2
(A+B)‘s lday'swork= | — + —| = — = —=
30 90 90 45
A and B together can do the work 45 = | d
— days
in _ L 2. 2R
EL S ° L glves Rate = 5% p.3.
- 11 gives, S.1. for 1 year = Rs. 600.
1L glvcs sum = 10 x (S.1. for 2 years).

RS




Now I, and II give the sum.
For this sum, C.I. and hence amount can be obtained.
Thus, II1 is redundant.

Again, II gives S.1. for 2 years = Rs, (600 X 2) = Rs.
1200

Now, from III, Sum = Rs (10 x 1200) = Rs . 12000.

100 x 1200
Thus, Rate = ——— =5% p.a.
x 12000 )

Thus C.I for 2 years and thelefore amount can be
obtained.

Thus, I is redundant.

Hence, I or III redundant.
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¥i | @) Bx2 +9 = 15), (Tx4+6 = 34) TIBR (6x9+8 = 62)
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39,

forsft &rT AE A AR 9EA ?

@) Cooperative organization , (@) Government organization
@) Non-governmental orgnaization (1) Company organization
T AGATE AT AR AT AACCH! o ? A

(%) @ 090 - (@ T 008 © (M AL 0Y] (M 005

e g gt At ey g e 2

(&) fa.d. 0% @) fa 04’ (M faE z0%0 (o) fa.d. 045

el srvafeer ades g ? _
@) fFw fegde @ wagww @ Dennis Tito en) Afvsrg AT it

TUE (@) - TR g T | RoX3 = Yo W)

A, B and C jointly thought of engaging themselves in a business venture. It was agreed
that A would invest Rs. 6500 for 6 months, B, Rs. 8400 for 5 months and C, Rs. 10,000
for 3 months. A wants to be the working member for which, he was to receive 5% of
the profits. The profit earned was Rs. 7400. Calculate the share of B in the profit.

(@) Rs. 2460 @) Rs. 2660 ‘M Rs. 2800 (") Rs. 2840 :
Father is aged three times more than his son Ronit. After 8 years, he would be two and a half

times of Ronit's age. After further 8 years, how many times would he be of Ronit's age ?

(@) 2 times @) 2% fimes - (M 2% times (=) 3 times
How many times do the hands of a clock coincide in a day ?
(%) 20 @ 21 < W), 22 0 @ (%) 24

A rectangular park 60 m long and 40 m wide has two concrete__cros'sroads running in
the middle of the park and rest of the park has been used as a lawn. If the area of the

“lawn is 2109 sq. m, then what is the width of the road ?

@®291m . @ 3m - @M 582m (=) None of these .
Out of 7 consonants and 4 vowels, how many words of 3 consonants and 2 vowels can be formed ?

(@) 210 @) 1050 @M 25200 (%) 21400 (%) None of these
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m@amammaﬂawﬁmmﬂ V Ak
ftesr i ggeT A< &1 A1 uft IEA aE | L T

(@) W T g HEA | : @ @ AT IS GHG
an it feew Sifa =T & » (%) ST I ST A &
JeEER! IAY RRE | :
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(3 FT =00 aw FT R it & e fag o '
() 2069 @) 2070 (M) 2071 . (¥ 2072 o
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R 9 AﬁxA/\

: d e § A B C -D
fegret Afewa oo g | _
1 7 3 (&) 64 @) 56
5 14 12
25 . 28 2 .| @n 40 (%) 48
125 ¢-"56 | 192

If CACELLFD =27, POSTPONEMENT =36 RESUME =?

(@) 127 @) 24 - - (M 18 (=) 10
Wwaommmmcoxﬁwm?'mqmmmmmsﬁw
S © | ITEAH HF QR & WA AAH qF Hh Ay 2

@) 80 @) 78 m78" (") 60

L&) 12 @) 25 @m 30 (&) Data unsufficient
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(#F) 80 @) 90 @M 95 (= 100
T qTEE G WOR! ST ST faswed @m‘@'ﬂ !
535 - 7580 : 852

483 - 9642 : 716
723 2 2 s 633 _ -
(F) 4354 (@) 4254 (M) 5442 (M 4236

G A - wm@gwmﬁm@mmwml
FOT R — Tt sl ot foed) 0 |

(%) WAIWR&%%‘T&HIWRW@AWWWW

@) mAaﬁtmRmﬁalmRmAﬁaﬁmmﬁl
@M WE ATFRTRIE G 1.

() g T B

mmmmloﬁfmmmzsﬁ?mtmaﬁmz
q@mﬁwmwﬁa@mmmmﬁm@mwﬁmmmaﬁzmm?
(&) 20 @ 19 - M 18 (e 17
FCUXM # 18 EARTH 9T NQRR # #1§ ‘
(@) SINE @) MOON () MINE (1) MAKE
Squint : Eye :: Squeeze : ? % ' ; :
(&) Tough @) Hand (M Clothes (¥ Throat
EardEIESC
v FET JH
3. @ R @) EL)) ¥, (@) Y. (&)
%. (%) 9, = | (%) Q. (M 0. (&)
9. (@) 4. (M 93. . (M 9%, (9) ETRG )
9%. - (M) q9. (¥ 5. (@) 9. (®) 0. @)
J¥. @R H) R} (W) . (@) W, @
[ @ ¢, @ . @ | R (@) 30, M
\ : AT difg® TUEuT '
g A | ST BEN
LA For managing, A received = 5% of Rs. 7400 = Rs. 370.
Balance = Rs. (7400 - 370) = Rs. 7030.
Ratio of their investments = (6500 X 6) : (8400 X 5) :
(10000 x 3)

q0%



=39000 : 42000 : 30000
=13:14:10

' 14
B's share = Rs. [7030 X -EJ =Rs. 2660.

R

Let. Romts present age be x years. Then fathers present
age =(x + 3x) yeans = 4x years.

(4x +8) = -2-(x+ 8)
= 8x+16=>5x+40

= 3x=24
=x=8.

(x+ 16) 24

EES

The hands of a clock coincide 11 times in every 12 hours
(Since between 11 and 1, they coincide only once, i.c, at
12 o'clogk). :

AM : ;

12:00, 1:05, 2:11, 3:16, 4:22, 527, 6:33, 7:38, 8:44,
9:49, _ \ 10:55

PM

| 12:00; .1:05, 2:11, 3:16, 4:22,°5:27, 6:33, 7:38, 8:44,

9:49, IO:-55

The hands OVerlap about every 65 minutes, not every 60
minutes.

** The hands coincide 22 times in a day.

3¥.

| Area of the park = (60 x 40) m’ = 2400 m’.

Area of the lawn = 2109 m?.
“ Area of the crossroads = (2400 - 2109) m? =291 m?,
Let the w1dth of the road be x metres Then,
60x + 40x - x> =291 :
= - 100x+291=0
= x-97)(x-3)=0

= x =3,

3.

Number of ways of selecting (3 consonants out of 7) and

- | (2 vowels out of 4)

=({Cx*Cy
T7x6x5. 4x3)-
= X
3x2x1. 2x1

=210."

0%




Number of groups, each having 3 'con's_onénts and 2.
vowels = 210. :

Each group contains 5 letters.

Numbef of ways of arranging

=5l
5 letters among themselves 3

=5&4x3x2x1

=120.-

s Required number of ways = (210 x 120) = 25200.
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3w, q. (=)
R. (B)
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3z, (%)
R.. b A
¥o. | (@) Tar® Row &1 Ureell T aral rad a9l rerael H9e® g |
¥q. (%) 3x4 = 12, 12x4 = 48, 48x4 = 192
¥R @mn CACEIIED 1 9 &R & | deX TReH | 27 959 |
POSTPONEMENT 1 12 & & | N TR | 36
v mlRESUMEﬂT6Jm§H|WW18m|
1 ¥3. @) AT %@ = 10x80 = 800 .
99 T A dled Amd = 8x81 = 648
I=9dH 4% =92 .
_ wra, IaH = 800 — 648 — 92 = 800 — 740 = 60
b ik maraﬁéaafaﬁa@l/ﬁmmmarﬁréx— 9
g8 sy 25 e
XY, @) TeEa! am 92 + 3% =
¥ () abc : mnop : Xyz — mn = axbxc —> 0p = XXyxzZ (7x2x3
=42,6x3x3=54) :
¥, @) - qr =T AFaT agag T i@l 5T BT TG |
¥5. [ :
¥R, @)
yo.
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4. Macintosh operating systems (MAC) fy&fg T vy FTE 2

: (@) IBM - (@) Apple . () Samsung (&) Microsoft
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Q. SireT FrerewR |
FEl EE

(a) Dyarchy - (1) ontH® FrEETET oTEe
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Three pipes A, B and C can fill a tank from empty to full in 30 minutes, 20 minutes,
and 10 minutes respectively. When the tank is empty, all the three pipes are opened. A,
B and C discharge chemical solutions P,Q and R respectively. What is the proportion
of the solution R in the liquid in the tank after 3 minutes ?
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